Contréleur d’étanchéité gaz
@ VI mx Gaz tightness controller

* Non disponible a la vente : le remplacement de ce produit nécessite un retour dans notre SAV.
*Not available for sale: the replacement of this product requires a return to our After Sales Service.

Pour nous contacter / To contact us : www.virax.com / contact



http://www.virax.com/

Contréleur d’étanchéité gaz
Gaz tightness controller

Quant,lte Désignation / Designation Reférence {x1) Kl_t
Quantity Reference (x1) Kit

Manometre / Manometer 889189

Contréleur 60Mbar / 60 Mbar controller 889195

Contre écrou / Lock nut 889190

Vis auto formeuse M2,5x10 / Self-forming screw M2.5x10 889196

Valve / valve 889198

Distributeur / Distributor 889187

Ossature tole / Framework 889186

Vis auto formeuse M4x8 / Self-forming screw M4x8 889188

Raccord M20x150 / mM20x150 fitting 889211

Raccord 7/8 gaz / 7/8 gas fitting 889212

Raccord1/2 gaz femelle / % Female gas fitting 889209

Raccord % / % fitting 889199

Raccord d’entrée / Iinput fitting 889201

Poussoir / Push-button 889202

Protection haute / Up housing 889203

Protection Basse / Down housing 889204

Sacoche / satchel 889205

Flexible / Flexible 889207

Poussoir / Push-button 889214

Valve / vaive 753403

Pile alcaline 1,5VLR6 / Alkaline battery 889327

Bouchon / Piug 889812

Tuyau / Pipe 889542

Ressort T4 6,3x8,2x1 / Spring 889553

Ressort 2,8x4,2x32 / Spring 889506

Anneau SELF LOCKING 87 / Ring 889507

Joint Sirgaz15x21 / Gasket 889422

e e T N B e e T S B e e S O e N T T N N B S N e N B B

Joint Sirgaz 27x22 / Gasket 889423

* Non disponible a la vente : le remplacement de ce produit nécessite un retour dans notre SAV.
*Not available for sale: the replacement of this product requires a return to our After Sales Service.

Pour nous contacter / To contact us : www.virax.com / contact



http://www.virax.com/

